62
Let's Get Stoiched! Multiple Choice Practice

1. Which of the following particulate diagrams best shows the formation of water vapor from hydrogen gas and oxygen

2as in a rigid container at 125°C?
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2. A sample of 9.00 grams of aluminum metal is added to an excess of hydrochloric acid. The volume of hydrogen gas
produced at standard temperature and pressure is:

a. 2241 1121 ¢ 7461 d. 5601
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3. Upon combustion, a 30. g sarople of a compound containing only carben, hydrogen, and oxygen produces 44.0 g of
carbon dioxide and 18.0 g of water. Find the empirical formula of the compound.

a. CHO (b)) cH,0 e C,HO, d. CH,0,
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4. A student titrates 20.0 mL of 1.0 M NaOH with 2.0 M formic acid, HCOzH (i = 1.8 x 107%). Formic acid is a
monoprotic acid (it only danates 1 H' ion}. How much formic acid is needed to completely neutralize the NaOH?

a. }10.0mE b. 200GmbL . 30.0mL d. 40.0mL
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Use the following information to answer #5-6: When heated in a closed container in the preserice of a catalyst, 1.2 x
1073 formula units of potassium chlorate decompose into potassium chioride and oxygen gas via the following reaction:

2 KClO;(s) - 2 KCI(s) + 3 0:(g)

5. How many grams of oxygen gas will be generated?

a. 160g b. 480¢g @ 3.60 g 4. 1837g
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6. Approximately how many liters of oxygen gas will be evolved at STP?

a. 1.241L h. 3.36L @ 6721 d. 2240
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